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Jslse IJloebl gds JJ glzod gvods lserue wuwgd 1 zselow 48 Jsdyvlse: wsupel
Swdé £33 89lise Iluebl) eds Jd slgos s lseyuw wuwsgd 10 gszlow 120 Jsdyclse.
9eJI96 eds 3Ud: o0ld pos pUbeyd pe9d, wuwes 11.75 pselolse. gusel Jl sdso ldptio
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SJ9su 2 Blisped IJIvobl)
03l pold wdgsy s Blisps IJluelbl, JJglges GE 0/0/1:

class-map match-all DUMMY
match gos-group 99 <--- it can be any unused group

policy-map QUEUE-LIMIT
class DUMMY

class class-default
queue-limit percent 5

interface GigabitEthernet 0/0/1



service-policy output QUEUE-LIMIT

Jl coblod 0o Idusluws ee s 2596 o9, soldelds Bos Jl wye, edsol lsuol. IJ el 890
wo 03l IJuoeg 09 jshs IUpgiu IUpsde JSlises IUluebl, JJslges GE 0/0/1.

IJI,o) match qoS-group 99 _o,9,s Jiwo £S) PIESP Jodssu 2> Ylises IJluo bl O -..9._50 £S)
Jojdkso‘ J)Jd uaula IJs |uUua)|rD @leoo dso loe,luosé Jiss Iood Jodssy 1Ule, 2

ASR-920-1 (config) #policy-map QUEUE-LIMIT
ASR-920-1(config-pmap) #class class-default
ASR-920-1(config-pmap-c)# queue-limit percent 5

Q0S: queue-limit command not supported in non-leaf classes
queue-limit: platform params check fail

SeIdU CESSU 22 Slises IJluebly wbyd pgodds:

(config-pmap-c) #queue-1limit ?
<1-2097152> in bytes, <1-1677721> in us, <1-8192000> in packets by default

Q

percent % of threshol

S w238 sy 91J8se6 993! Jeobdole Iduvods 1Jgluos .

J9op 030 IJpedele 9ds9ss wlos) wiss) IJdse eds luvedsle IUpgiu IJpdde: spdud
lszoe IJs ool Idegow) Idegrsge Ss 1dduwe Idolds.

pdlzbé: Jl suwlus i Suvdd uwslyws QoS ceo psule Yuls Yo VI e IUSLY
boses zic pu ldpsule-channel

ASR-920-1 (config) #interface port-channel 2

ASR-920-1(config-if) #service-policy output gos-tac

QoS: Configuration failed. Policy-map with Queueing actions not supported on EC main-
interface/EFP

QoS: Configuration errors for policymap gos-tac

IJIzeJlSle o RSP3 9 NCS 520

L9l 2950 2300 92530 Cisco RSP3:

 0ew9s 9226 RSP3 edss peliu ehess Jeipe uwes 4 eselulse JJd 926 wiisu poueds
oo ds
- ogp 1J9226 IJuplsé RSP3 §9lise luelbl, 48000
- gouvdd el os: 0Ep 9226 RSP3 pl suod IUs 1 pselulse pu 2> Blispes IUIe bl JJJ
Slispd luwbl,)
s sup leooh Idogwes Idpissss Jdes po Slised IJluc bl pu 1 Estlolse pu leelds Ideghio
lJe9 90
wldouwes Jdeszole IJos weess eds puindsu eds RSP3 9 NCS 520. s$wuo) €35 presele
2926 1Jg>p6 s spdu wdgsuol gds 0-7:

ASR-903-1(config) #class-map match-all gos-tac

ASR-903-1(config-cmap) #match gos-group ?

<0-7> Qos Group value

s NCS 520: 00l o0 pd 8w J8lises IJluwbl, guegs 2 pszlolse puvend oo gese
IUslzole wuvdd I8, luos: 98pdu [J9uo9d IUs piiu p98 Ehas uwes 2 zselulse gus


/content/en/us/td/docs/routers/asr903/software/guide/17-1-1/b-qos-guidelines-xe-17-asr900/qos_guidelines_for_rsp3_module.html#concept_omf_5j4_d1b

odosu Brsbs usluws v Slises Idloe bl ould lsool )8 B Idulsele sldeedole
lJleys3ds6 JJes IJpumwpse wo Jilises IUluebbly:

ASR-520-1 (config-pmap-c)# queue-limit ?
<1-8192000> in bytes, <1-40000> in us, <1-8192000> in packets by default
percent % of threshold

lBowl pgowy 2 Blisped IUlue bl (QL). 1JwW,98 wsu 923l
lJolse sldJouwed [Jpis9so

ubld Jigool sldpedele

9Jpl wpw pdlzboo puwedle Blo 1Ue> Uijuos JJses ldslods JJdodysy Juesss Slispd
IJloobl oldolse 09 2097152: 909 pl Sped 187 w@isel pu ldpgiu lJesdw IJpuve,d eds
IJIob s IJlguluusé ASR 920 (o0 11.75 pseglolse |Js 45898 * 256 Llsw).

Bl Gpo wodosu s Ylisped IUluwbl) ulduuuesd |Jpisgss: §pd¢é{ lJloesld zos 1007, J3Jd.
Jedbus IJouwed 1deis9ss 99psle Idolse olddse IdedlBiss. slgs IdiReoh sp szole
lJolse po 117498 |Js 2097152 Llsw 998p lJuuwed 1Upisgss Jesgs Ylisped IUlvebl, po 17
IJs 187:

queue-limit percent > queue-limit 117498 bytes

queue-limit percent > queue-limit 234996 bytes

queue-limit percent queue-limit 352494 bytes

queue-limit 469992 bytes
queue-limit 587490 bytes
queue-limit 704988 bytes
queue-limit 822486 bytes
queue-limit 939984 bytes
queue-limit 1057482 bytes
queue-limit 1174980 bytes
queue-1limit 1292478 bytes
queue-limit 1409976 bytes
queue-limit 1527474 bytes
queue-limit 1644972 bytes
queue-1limit 1762470 bytes
queue-limit 1879968 bytes
queue-1limit 1997466 bytes
queue-1limit 2097152 bytes

queue-limit percent

queue-limit percent
queue-limit percent

queue-limit percent

queue-limit percent
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queue-limit percent 18
op oISy 36 pebol Juslws: 18 pe Gsp 22 Slisesd IUlue bl Idos woslaz po 17 1ds 187 9 18
lJIE)s pe Osp 22 Blisped IUluobl) ldos ooleg po 117498 |Js 20971562 Llsw.

policy-map QUEUE-LIMIT-PERCENT-X
class DUMMY

class class-default

queue-limit percent X

policy-map QUEUE-LIMIT-BYTES-X
class DUMMY

class class-default
queue-limit Y bytes

=> X values range from 1 to 18
=> Y values range from 117498 to 2097152



Swp lgool) JJ ywsluws pjlvq Jo 1Jpy9) dlo Idlusule Ideoulos I.Juog) lJpew9dré g IXIA.
ou.oJ Jé 1Jp,9) 030 |Js pud> 10 GE o ASR 920 9wz eJs pu93 1 GE pu ldpgzo
uIywo.

ooldwd 030 IJoWes,le oo 20000 2506 Luwesd 4 zszloe WS IJoluss sds Bl jouss
OodE 5 89lu. 030 08 036 [JlusBle 1Jpes36 Jzee 1Uz)ps:

1280000 bytes at 64 packet size, Burst duration: 0.00256 second
4000000 bytes at 200 packet size, Burst duration: 0.008 second
6000000 bytes at 300 packet size, Burst duration: 0.012 second
10360000 bytes at 518 packet size, Burst duration: 0.02072 second
16000000 bytes at 800 packet size, Burst duration: 0.032 second
20480000 bytes at 1024 packet size, Burst duration: 0.04096 second
28000000 bytes at 1400 packet size, Burst duration: 0.056 second

Uz 1096 1. ebusd wesso ooz QUEUE-LIMIT-BYTES-X (X=1) uldolse Y=117498 i v
IUslzo6 1J_ols,6.

1U2096 2. §p wogbgsd 9d o9y IJoslule 1U>8686 Jpss 28586 9lzas.
g9 3. Op wdsluw IJess Ilzelds Jdeie S IILlz 982> IUzie IJos wpe luvlbol.
IUgho96 4. 2wl IJuuwesd wsu Ideie IJpundlbos slzelds 2ie 11

lJglo9é 5. I, p,0 9lgaé pu IUgb9s 1. iu,u.;','a)p 030 1Jp,y6 Ylispes luobl) vegssu IJuog IJuuvwo
lJpis9s6-X pg 2> $lisped IUluwbl) couwed X gse X=1.

196 6. I, pu IJeke9s 1 pg x=x+1 Jlyue 2sbod Iduwsluws 99506 IJouwws 1Jpssss:
Y=Y+117498 Clsw. I, gus X=18 9 Y=2097152.

pSlJ

lJOsluw wluwesdle cessu yusluwsd 2> Blispes IUlgebl)-1:

ASR-920-1#show int Gi0/0/1
GigabitEthernet0/0/1 is up, line protocol is up

Hardware is 24xGE-4x10GE-FIXED-S, address is 70df.2f2f.ed01 (bia 70d4df.2f2f.ed01l)
Internet address is 10.12.10.47/31

MTU 8900 bytes, BW 1000000 Kbit/sec, DLY 10 usec,

reliability 255/255, txload 4/255, rxload 4/255

Encapsulation ARPA, loopback not set

Keepalive set (10 sec)

Full Duplex, 1000Mbps, link type is auto, media type is T

output flow-control is unsupported, input flow-control is on

Carrier delay is 0 msec

ARP type: ARPA, ARP Timeout 04:00:00

Last input 00:00:01, output 00:00:02, output hang never

Last clearing of "show interface" counters never

Input queue: 0/375/0/0 (size/max/drops/flushes); Total output drops: 684263427
Queueing strategy: Class-based queueing

Output queue: 0/40 (size/max)

30 second input rate 19475000 bits/sec, 19533 packets/sec

30 second output rate 19157000 bits/sec, 13356 packets/sec

5064106237 packets input, 4333296255278 bytes, 0 no buffer



Received 29 broadcasts (0 IP multicasts)

0 runts, 0 giants, 0 throttles

0 input errors, 0 CRC, 0 frame, 0 overrun, 0 ignored

0 watchdog, 726180 multicast, 0 pause input

7829367523 packets output, 4217074973677 bytes, 0 underruns
output errors, 0 collisions, 3 interface resets

unknown protocol drops

babbles, 0 late collision, 0 deferred

lost carrier, 0 no carrier, 0 pause output

output buffer failures, 0 output buffers swapped out

o O O O O

ASR-920-1#show policy-map int Gi0/0/1 output
GigabitEthernet0/0/1

Service-policy output: QUEUE-LIMIT-BYTES-1

Class-map: DUMMY (match-all)
0 packets, 0 bytes
30 second offered rate 0000 bps
Match: gos-group 99

Class-map: class-default (match-any)
1044078 packets, 73085460 bytes
30 second offered rate 9759000 bps, drop rate 0000 bps
Match: any

queue limit 117498 bytes
(queue depth/total drops/no-buffer drops) 0/0/0
(pkts output/bytes output) 0/0

lJOsluw wg> 58886 91226 pu 2y IJé 1Udg,ly 1U> 98 96:

ASR-920-1#show int Gi0/0/1
GigabitEthernet0/0/1 is up, line protocol is up

Hardware is 24xGE-4x10GE-FIXED-S, address is 70df.2f2f.ed01 (bia 70d4f.2f2f.ed01l)

Internet address is 10.12.10.47/31

MTU 8900 bytes, BW 1000000 Kbit/sec, DLY 10 usec,
reliability 255/255, txload 2/255, rxload 3/255

Encapsulation ARPA, loopback not set

Keepalive set (10 sec)

Full Duplex, 1000Mbps, link type is auto, media type is T

output flow-control is unsupported, input flow-control is on

Carrier delay is 0 msec

ARP type: ARPA, ARP Timeout 04:00:00

Last input 00:00:01, output 00:00:01, output hang never

Last clearing of "show interface" counters never

Input queue: 0/375/0/0 (size/max/drops/flushes); Total output drops:

Queueing strategy: Class-based queueing

Output queue: 0/40 (size/max)

30 second input rate 13981000 bits/sec, 19643 packets/sec

30 second output rate 11256000 bits/sec, 12784 packets/sec
5064715137 packets input, 4333338878716 bytes, 0 no buffer
Received 29 broadcasts (0 IP multicasts)
0 runts, 0 giants, 0 throttles
0 input errors, 0 CRC, 0 frame, 0 overrun, 0 ignored
0 watchdog, 726190 multicast, 0 pause input
7829753878 packets output, 4217102018968 bytes, 0 underruns
0 output errors, 0 collisions, 3 interface resets
0 unknown protocol drops

684561562



0 babbles, 0 late collision, 0 deferred
0 lost carrier, 0 no carrier, 0 pause output
0 output buffer failures, 0 output buffers swapped out

ASR-920-1#show policy-map int Gi0/0/1 output
GigabitEthernet0/0/1

Service-policy output: QUEUE-LIMIT-BYTES-1

Class-map: DUMMY (match-all)
0 packets, 0 bytes
30 second offered rate 0000 bps
Match: gos-group 99

Class-map: class-default (match-any)
1847215 packets, 129305050 bytes
30 second offered rate 10804000 bps, drop rate 0000 bps
Match: any

queue limit 117498 bytes
(queue depth/total drops/no-buffer drops) 0/387570/0
(pkts output/bytes output) 656508/45955560

sdol luudlb |z 06: 684561562 - 684263427 = 298135
2 elds sdol 15,1z 1z 0: 7829753878 - 7829367523 = 386355
IJouwesd wso pdsle luwdlb 1Jz5e 1Uzse slele 1z e: 298135/386355 = 777

volisg leoul) Lab

99Jpl 09 p9oz: Swp lgool 36 2rsbsé Jduvsluvle: 18 e wdgsuel Lluwogsle Jse 2> Jlises
IJloebl) Idos oosle pu 17 1ds 187 we ltovlol pdlod Iduwsluwle 1 18 1UIE)s 1Jos wpe
odgsuol Lluuegsle 8spe 23 Blisps IJluobl) IJos wuslez oo 117498 [Js 2097152 Llsw. swpe

l2ooh IJ @rsbs puslugws pdlod uOuw 296 1Upi9) IJpodzs ldos sep lugbliel luwesle
IXIA.

Vs o3l Idduwe swp Erue wolisg o3l IJIRe ol ssep wdilel 7 p)le Jdozdd pu lduclse
vlezle 2ip peodus: wldolse: 64 9 200 9 300 9 518 9 800 9 1024 9 1400.

Jouwoesd IJ@,leé. JIJ zep 2ipd Sup e IJuolsg BOs 239d Cp sup suwpeol wslusl.

uuved QL pélud 9pdle IUulse pg 1Jz)p 3l 64 Llseo

Policy-map | Drop rate with PC | Drop rate with Bytes
QL Bytes/Percent 1 | 81% | 77%
QL Bytes/Percent 2 | 72% | 31%
QL Bytes/Percent 3 | 61% | 15%
QL Bytes/Percent 4 | 54% | 0%
QL Bytes/Percent 5 | 45% | 0%
QL Bytes/Percent 6 | 38% | 0%
QL Bytes/Percent 7 | 33% | 0%
QL Bytes/Percent 8 | 26% | 0%
QL Bytes/Percent 9 | 22% | 0%



QL Bytes/Percent 10 | |
QL Bytes/Percent 11 | |
QL Bytes/Percent 12 | |
QL Bytes/Percent 13 | |
QL Bytes/Percent 14 | 1% |
| |
| |
| |
| |

=R

QL Bytes/Percent 15
QL Bytes/Percent 16
QL Bytes/Percent 17
QL Bytes/Percent 18

QL Percent vs bytes with 64 bytes packets

80 4 —— QL with Percent
QL with Bytes
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] ] ] ] ] ] ] ] 1 1 1 1 1 1 1 1 1 1
SR
e - I I I
ouved QL pdlud gpsle IUulse pg 1Jzp 200 Llse
Policy-map | Drop rate with PC | Drop rate with Bytes
QL Bytes/Percent 1 | 82% | 80%
QL Bytes/Percent 2 | 72% | 63%
QL Bytes/Percent 3 | 63% | 52%
QL Bytes/Percent 4 | 54% | 39%
QL Bytes/Percent 5 | 46% | 42%
QL Bytes/Percent 6 | 51% | 17%
QL Bytes/Percent 7 | 32% | 18%
QL Bytes/Percent 8 | 27% | 3%
QL Bytes/Percent 9 | 22% | 3%
QL Bytes/Percent 10 | 17% | 3%
QL Bytes/Percent 11 | 12% | 0%
QL Bytes/Percent 12 | 8% | 0%
QL Bytes/Percent 13 | % | 0%
QL Bytes/Percent 14 | 1% | 0%
QL Bytes/Percent 15 | 0% | 0%
QL Bytes/Percent 16 | 0% | 0%
QL Bytes/Percent 17 | 0% | 0%
QL Bytes/Percent 18 | 0% | 0%



QL Percent vs bytes with 200 bytes packets

B0 — QL with Percent
QL with Bytes
B0 -
40 4
20 -
e
I I I I I I I I I I I I I I I I I I
SRRSASRESEALREREL

oo QL pdlud spdle IJulse pe 1U)e 3lo 300 wlse

Policy-map | Drop rate with PC | Drop rate with Bytes
QL Bytes/Percent 1 | 84% | 106%
QL Bytes/Percent 2 | 72% | 72%
QL Bytes/Percent 3 | 62% | 63%
QL Bytes/Percent 4 | 54% | 52%
QL Bytes/Percent 5 | 46% | 46%
QL Bytes/Percent 6 | 39% | 34%
QL Bytes/Percent 7 | 33% | 34%
QL Bytes/Percent 8 | 27% | 22%
QL Bytes/Percent 9 | 21% | 21%
QL Bytes/Percent 10 | 23% | 20%
QL Bytes/Percent 11 | 13% | 2%
QL Bytes/Percent 12 | 9% | 2%
QL Bytes/Percent 13 | 5% | 2%
QL Bytes/Percent 14 | 1% | 1%
QL Bytes/Percent 15 | 0% | 2%
QL Bytes/Percent 16 | 0% | 1%
QL Bytes/Percent 17 | 0% | 2%
QL Bytes/Percent 18 | 0% | 0%



QL Percent vs bytes with 300 bytes packets
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Policy-map | Drop rate with PC | Drop rate with Bytes
QL Bytes/Percent 1 | 85% | 86%
QL Bytes/Percent 2 | 97% | 81%
QL Bytes/Percent 3 | 62% | 71%
QL Bytes/Percent 4 | 54% | 68%
QL Bytes/Percent 5 | 46% | 84%
QL Bytes/Percent 6 | 52% | 54%
QL Bytes/Percent 7 | 42% | 54%
QL Bytes/Percent 8 | 27% | 43%
QL Bytes/Percent 9 | 21% | 43%
QL Bytes/Percent 10 | 17% | 43%
QL Bytes/Percent 11 | 17% | 34%
QL Bytes/Percent 12 | 8% | 35%
QL Bytes/Percent 13 | 5% | 26%
QL Bytes/Percent 14 | 1% | 23%
QL Bytes/Percent 15 | 0% | 26%
QL Bytes/Percent 16 | 0% | 34%
QL Bytes/Percent 17 | 0% | 26%
QL Bytes/Percent 18 | 0% | 2%



QL Percent vs bytes with 518 bytes packets
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Policy-map | Drop rate with PC | Drop rate with Bytes
QL Bytes/Percent 1 | 112% | 117%
QL Bytes/Percent 2 | 74% | 86%
QL Bytes/Percent 3 | 63% | 82%
QL Bytes/Percent 4 | 54% | 75%
QL Bytes/Percent 5 | 47% | 73%
QL Bytes/Percent 6 | 39% | 66%
QL Bytes/Percent 7 | 33% | 88%
QL Bytes/Percent 8 | 27% | 56%
QL Bytes/Percent 9 | 22% | 57%
QL Bytes/Percent 10 | 17% | 57%
QL Bytes/Percent 11 | 13% | 44%
QL Bytes/Percent 12 | 9% | 56%
QL Bytes/Percent 13 | 5% | 43%
QL Bytes/Percent 14 | 2% | 44%
QL Bytes/Percent 15 | 0% | 43%
QL Bytes/Percent 16 | 0% | 43%
QL Bytes/Percent 17 | 0% | 44%
QL Bytes/Percent 18 | 0% | 21%



QL Percent vs bytes with 800 bytes packets
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Policy-map | Drop rate with PC | Drop rate with Bytes
QL Bytes/Percent 1 | 85% | 93%
QL Bytes/Percent 2 | 97% | 89%
QL Bytes/Percent 3 | 82% | 83%
QL Bytes/Percent 4 | 51% | 82%
QL Bytes/Percent 5 | 45% | 78%
QL Bytes/Percent 6 | 39% | 72%
QL Bytes/Percent 7 | 41% | 72%
QL Bytes/Percent 8 | 26% | 62%
QL Bytes/Percent 9 | 20% | 65%
QL Bytes/Percent 10 | 16% | 66%
QL Bytes/Percent 11 | 11% | 68%
QL Bytes/Percent 12 | 7% | 53%
QL Bytes/Percent 13 | 3% | 53%
QL Bytes/Percent 14 | 0% | 52%
QL Bytes/Percent 15 | 0% | 52%
QL Bytes/Percent 16 | 0% | 53%
QL Bytes/Percent 17 | 0% | 52%
QL Bytes/Percent 18 | 0% | 33%



QL Percent vs bytes with 1024 bytes packets

100 4
— L with Percent
QL with Bytes
ED .
Eﬂ .
40 -
20 -
|]| .
1 1 1 1 1 1 1 1 I I I I I I I I I I
PRAEREEESALNAAALLR

oo QL pldlud 9pdlo Idulse pe 1Jz)p 3lo 1400 Llse

Policy-map | Drop rate with PC | Drop rate with Bytes
QL Bytes/Percent 1 | 101% | 93%
QL Bytes/Percent 2 | 68% | 87%
QL Bytes/Percent 3 | 58% | 86%
QL Bytes/Percent 4 | 50% | 85%
QL Bytes/Percent 5 | 43% | 82%
QL Bytes/Percent 6 | 36% | 75%
QL Bytes/Percent 7 | 27% | 79%
QL Bytes/Percent 8 | 24% | 72%
QL Bytes/Percent 9 | 25% | 76%
QL Bytes/Percent 10 | 14% | 95%
QL Bytes/Percent 11 | 9% | 62%
QL Bytes/Percent 12 | 5% | 62%
QL Bytes/Percent 13 | 1% | 58%
QL Bytes/Percent 14 | 0% | 62%
QL Bytes/Percent 15 | 0% | 85%
QL Bytes/Percent 16 | 0% | 63%
QL Bytes/Percent 17 | 0% | 62%
QL Bytes/Percent 18 | 0% | 50%



QL Percent vs bytes with 1400 bytes packets
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minimum queue-limit = 4590 Qnodes = 4590*256 bytes = 1.175 MB = 10% of the buffer

p€ 512 Ulso B3 sd9u Iluwasle 09 Ideuoled: pe 1024 Llse B3b JJzie sdou hugs
luoglwd )Jd 903l

o3l S0 b 23 Blises Idloebly IJbeds 09 107 gds U pu IUpgso 1pdde: 9l e sow o
Iz IiGuos J9z36 1 1Jiguos JJbuwld (MTU) o 1500 wlse: Sluw velzs 1Js 6 £9>
Jotisu eipd slexs: pel sebs 22 18uos JSlkses IJlucbl):

maximum queue-limit = 4590*6 Qnodes = 4590*256*6 bytes = 7.05 MB = 60% of the buffer
wodo IJb)s80 Spdud og)ys Idersu Idbos sldlgds Jigvedsle 1dpgio 1Jpdlde g 2> Blised



Iloebl, Jdouwes 100 Jsdd cupdd 19, gp9pl sd90 posumb 1Ues 1106 Jluweesle
lUpgiu IJpdde wldrsel:

ceil (avg_pkt_size/256) * ((glimit_percent/45900)*100)
roC;|J U PE)IC’ |JPECJL_JJ:

GigabitEthernet0/0/1 is up, line protocol is up

Hardware is 24xGE-4x10GE-FIXED-S, address is 70d4f.2f2f.ed01 (bia 704f.2f2f.ed01)
Internet address is 10.12.10.47/31

MTU 8900 bytes, BW 1000000 Kbit/sec, DLY 10 usec,

reliability 255/255, txload 25/255, rxload 30/255

Encapsulation ARPA, loopback not set

Keepalive set (10 sec)

Full Duplex, 1000Mbps, link type is auto, media type is T

output flow-control is unsupported, input flow-control is on

Carrier delay is 0 msec

ARP type: ARPA, ARP Timeout 04:00:00

Last input 00:00:00, output 00:00:01, output hang never

Last clearing of "show interface" counters 00:11:43

Input queue: 0/375/0/0 (size/max/drops/flushes); Total output drops: 2036062
Queueing strategy: Class-based queueing

Output queue: 0/40 (size/max)

30 second input rate 118520000 bits/sec, 18902 packets/sec

30 second output rate 101646000 bits/sec, 16124 packets/sec

13185272 packets input, 10328798549 bytes, 0 no buffer

Received 0 broadcasts (0 IP multicasts)

0 runts, 0 giants, 0 throttles

0 input errors, 0 CRC, 0 frame, 0 overrun, 0 ignored

0 watchdog, 235 multicast, 0 pause input

11247114 packets output, 8870166880 bytes, 0 underruns <<< avg_pkt_size = 8870166880/11247114 =
788.66 bytes

output errors, 0 collisions, 0 interface resets

unknown protocol drops

babbles, 0 late collision, 0 deferred

lost carrier, 0 no carrier, 0 pause output

o O O O o

output buffer failures, 0 output buffers swapped out

Spedud puwle avg_pkt_size gJs 8870166880/11247114 |Js 788 wlsw.

wluwegsle uuwed 2> Blisped IUluobl) 100 sJ9y Jssd puyuwb 1Ug> Uiéuos Jigwegsle 1Jpeio
lJes9w:

ceil (avg_pkt_size/256) *((45900/100) *glimit_percent)

Calculation example with Python:
>>>import math

>>>math.ceil (788/256)*((45900/100)*10)
18360.0

=> 18360 Qnodes = 18360 * 256 bytes = 4.7 MB = 40% of the buffer
JsIs6 IJogdd pu luwogsle pé 5o MicroBurst IJe9 9

WO luosble Cisco I0S-XE §od 16.9.3¢ wp luwesle IJpeio 1dedde Ideuve,yd JJslzele JIJ
eu e Idoslule gldegde (pod BFD‘3.__U.3.;>3-59JIQ lJogzso: 9 ARP. 9 LDP. g keepalive).
JJozdd pu luwesle 1degio 1desde IJ99 s spdud luwasle o3l 1le):



ASR-920-1#request platform software sdcli "nile bm reg buffertablefreelistcount show 0 0 O"
w8 16.9.3 e el vep IJogssilo Jopuwso luvedsle Idpeio 1dpdde sop wdumwspo Bs
2: wp zey 1024 5¢lJl (256 Jsdyvlse) Jeyds pi9) Idogdp 9swpe b IJol9s Jgyds 09,
lJoslole.

.___SroGJL'J ro_)kég_;é !u.uoa)ho |Jroé)'() |Jp_§é0 k.9§ 0do LJE_LJé g_;|uuoé_)|fo |.Ji_9|ro_) |JQ|J§6I

ASR-920-1#request platform software sdcli "nile bm reg
supervisorresourcereservedcounttableaccess sh 0 0 0"
reservedUsedCount = 48 (0x30)

reservedFreeCount = 976 (0x3d0)

ASR-920-1#request platform software sdcli "nile bm reg
supervisorresourcereservedcounttableaccess sh 0 2 0"
reservedUsedCount = 8114 (0x1fb2)

reservedFreeCount = 37784 (0x9398)

Jlebb lve. ooyl Jz 8886 peldes IUpeso IJpdde JIsBdele 1088860 Szw wibly 1die) £38 p)le
J)9506 B po reservedUsedCount pgodwdo g0 0

ro-JQ E.L)'”lu |wot)|p |Jrotjo |Jp3du uuuuHoé UIU"":’E.-)IP
reservedUsedCount/reservedFreeCount eds wosd Jpeld. 8114/37784 = 21.57 puu s p.
v 1o soces oSzl sew b s8e 1Jpeio 1Jedde wungs IUs 1Juad) s rsw po.

y-19) Cisco I0S-XE |.J!u0>|_) 17.6.1. V-19) |.Jrorodu !EQ§|J !u.uo'aﬂro LJ,DE)'O |Jro_9L9U |.J¢J|ro.J Jyd y-19)
lJoslule 52,36 e)9) Ideede (e IJpedad Bl dlve gbodod cposs eds pedd prode pu
s )9, Idoede) 9 odumse [peiv IJpdde Bs 2 Jol 09 0902 puvedl. sop lale IUIReS
cluwegsle odosy 03l 1Ulp) (pelod wuvdd Vel os):

ACDC-920-1 (config) #platform gos-buffer enhance enable
ACDC-920-1(config) #no platform gos-buffer enhance enable

o0 Cisco I0S-XE |bJl§ 17.7.1. pu Ippdu lsuol losh ez 1ss ouss wéuosuoo Jeyds
o9 ldoede:

ACDC-920-1 (config) #platform gos-buffer enhance [1-4]
lsu:
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